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SOCIAL WORK

Paper II

HUTSTRTE
goatent 11

Time Allowed : 75 Minutes]
: This Paper contains Fifty (50) multiple choice questions. Each question

[Maximum Marks : 100

carries Two (2) marks. Attempt All questions.
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: 1 YU THYT UATE (50) SgUi U STRd. Wedsh YAl €I (2) T 3T

Arrange the sequence of approaches :

(A) Welfare, charity, ecological,
clinical, radical

(B) Charity, welfare, radical,
clinical, ecological
(C) Charity, welfare, clinical,

ecological, radical

(D) Welfare, ecological, charity,
clinical, radical

Assertion (A) : Social work is a
practice-based profession

Reason (R) : It promotes social
cohesion and deals with problem
solving.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of

(A)

(B) Both (A) and (R) are true but
(R) 1is not the correct
explanation of (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

1.

gfteehAr= g HAAR AISU | ¢

(A) FHTAT, SHALH, YATSOTISAR,
[ S AN o
Fafcarcs, ST

(B) gI&d, &weA0l,  dUHIF,
[AlencdlcHeh, QST L ch

(C) gIAud, wHearo, fafecrcas,
qIeRuT o, e

(D) FAT, YATAXOTfase, ST,

Fafehcarces, dehid

faam (A) : EERTE B GETER
MYRG =9 2.

&HIUT (R) : d 9IS ThidT ded
T8 od a8 T9E Sreauaen frrfea
3R,

e
(A) (A) 2T (R) SIF61 =& 1&g 3101
(R) % (A) ¥ TgF TR T

(B) (A) 3TfuT (R) S8l sRIeR 3T W
(R) T (A) o 3TH TIRHIT AR

(C) (A) TR T8 T (R) ¥ I 3T

D) (A) § I 3R W (R) T SN
TR,

[P.T.O.



International Federation of Social

Workers recommends :

(z) Respect for the equality, worth

and dignity of all people

(z1) Belief in human potential

(z11) Solidarity with those who are

disadvantaged, poor,

marginalised, vulnerable and

oppressed.

What does the above indicate ?

(A) Values of social work

(B) Principles of social work

(C) Techniques of social work

(D) Major concerns of social work

APR-2021711—A
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(A) FENSHEET T

~

(B) HHISTRMEI=T dwd

(C) TSR T
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Multiculturalism can be described by

the following :

(@) Opposition of  cultural

imperialism
(b) Opposition of homogenisation
(¢) Promotion of diversities

(d) Opposition of hierarchical

dichotomies
Codes :

(A) (a) and (b)

(B) (a), (b) and (c) only
(C) (b) only

D) (a), (), (¢) and (d)

Synthetic approach recognizes that

all religions are ...........c....... .
(A) Philosophical
(B) Source of worship and rituals

(C) True and that diversity of

religions is a law of nature

(D) Equal

APR-2021711—A

TEEEHAAG TICIeTuh! el STER

U Al Tz ?

(@) TERfas gErTarR™ faly

(b) THSUReRE faly

(c) fafaeds dreme

(d) R goff fgursHe feliy
Hehdich :

(A) (a) 3T (B)

(B) &9 (a), (b) SO (c)

(C) whdes (b)

D) (@), (b), (¢) W (@)

ga gieshd T8 AMGl i wauH

(A) diferss 3R

(B) gon enfor faeff= i@ st

(C) ®R 71 eifafaean & fent fm
HEEE

(D) HHE 3R
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Who postulated the three stages of

social change i.e. ideological,

metaphysical and the positive ?
(A) Auguste Comte

(B) Bogardus

(C) Mooney

(D) Sorokin

‘Totalitarianism’ is a political system

in which :
(A) Absence of opposition
(B) Coalition government

(C) Complete and unrestricted

power in government
(D) Absolute majority government

The theory that motivation is the
function of intrinsic factors such as
appreciation and recognition was

propounded by :

(A) Herbert Simon
(B) Herbert Spencer
(C) Fredrick Herzberg

(D) Abraham Maslow
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graTieeh  IeATsaT-acaqTAI a s,

AR ST Joaed o1 STeree @ieiiel
HUT TET ?

(A) A =i

(B) srmEy

(C) Tt

(D) HRIfeHA

galfeh e /Iaaxae, Sawdd

(A) Toiger=n 3199

(B) TeSEd WK

(C) Hqul qen Ao T o STer

HIh

(D) SgHATIA FHRR

191 Tagid Sammed YLoT 71 wnefae Seeh
e Sal—S9 g9 STfor sfesd, &1

fagia o sheen R
(A) T HEHA
(B) & T
(C) el wEient

(D) 3T9EH Haal




10.

11.

Right to Property is stated under
............................ section of the
Constitution of India.

(A) Article 13, 14 and 15

(B) Article 60 and 65

(C) Article 19 and 20

(D) Article 19 and 31
Macroeconomics studies ................... .

(A) All aggregate indicators and the

factors that influence the
economy

(B)
(C)

Banking, finance and market

Individuals, household and
firms—issues that affect

economy
(D) Macro-finance

Perpretrators of child sexual abuse
S 70} AR .

(@) Lack of impulse control

(b) Problematic
relationships

(¢) Mania

(d) Emotional blunting
Codes

(A) (a), (b)

(B) b), ()

(C) (a), (@), (c)

D) (a), (®), (o), (d)

interpersonal

11.
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(A) %eH 13, 14 a1for 15
(B) o™ 60 AT 65
(C) o™ 19 3T 20
(D) o™ 19 Ao 31

(A) TR T IR A7 e 5 -
FEEIel URUMH hidrd

(B) epim, 31ef efor SRS

(C) =FKiT, ¥R M0 wH-FTRT qg &
AfFTEIaR gRUM Hdd

(D) <r&qd gLEel

STl oifiTeh  STCATER ShiuM=al  STYXIEA-

T 3GV @21 TaRToa § 89
(@) TR FEFwmET 19E

(b) THEY SR Ty

(c) SHI]

CARRICIEEEITEE|
Hehdleh :

A) (a), (b)

(B) (), (c)

(C) (a), @), (c)

D) (a), (), (c), (d)

[P.T.O.



12.

13.

The ex-alcoholic sharing his
experiences helps other addicts

remain sober. Social worker

working with such groups is
Wworking ........ccc.ee..e. .

(@) At meso level

(b) With self-help group

(c) At macro level

(d) With alcoholic anonymous
Codes :

A) (a), B), (d)

(B) (), (c)

(C) (o), (@)

(D) (b)), (c), (d)

Assertion (A) : Stress may result
due to individual interactions with
environmental stimuli

Reason (R)
conditions force individual to
with
opportunities and outcome.

(A) Both (A) and (R) are true and

(R) is the correct explanation of
(A)

Both (A) and (R) are true but
(R) i the
explanation of (A)

¢+ Environmental

confront demands,

(B)

1s not correct

(®))
D)

(R) is true but (A) is not true
(A) is true but (R) is not true

12.

13.
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HHTHE] SHRATAT Tl =T I HeA-
FHUAHS 3T HHAT SR AT
@A AT BRI ST T Hred i
SHLO FHTS ShFehd
HIA ST

(@) Tosh drded =X

(b) T WERAA T

(c) Wahl Urdest =R

(d) IR FATHH Hrerd
Hehdich :

A) (@), (), (d)

(B) (b), (o)

() (c), (d)

D) (), (o), (d)

faam™ (A) : SdEROTETA SEgeRT

aferter  STaRfRames amr i 2.

HIUT (R) : ATATELodial offeerdt

et JrTua, e, fsut Fren |\

FHTAT 9N TTSd.

S

(A) = (A) 3mfor (R) &R eTed
T (R) § (A) 9 3Th T
3TR.

(B) <l (A) =1for (R) sIeR 37ed
TG (R) T (A) 3 T TR
q.@.

(C) (R) & sR™R W (A) § I 3T
(D) (A) T IR 3T T (R) T I 378
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14. Assertion (A) : Human Develop-

15.

ment is result of human growth.

Reason (R) : Environment has
limited role to play in human
development as heredity decides
growth.

Choose the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and
(R) is correct explanation of (A)

Both (A) and (R) are true but
(R) is the
explanation of (A)

(A) is true but (R) is false
Both (A) and (R) are false

(B)

not correct

©)
(D)
Big five factors are :

(A) Openness, Conscientiousness,
Extraversion, Agreeableness,

Neuroticism

(B) Openness; Conscientization,
extraversion, Acceptance,
Psychoticism

(C) Overtness, Coolness, Empathy
Agreeableness Neuroticism

(D) Overtness, Coolness,
Enthusiasm, Arrogance,
Neuroticism

14.

15.
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faam™ (A) ; 9T T/ 81 A6t e

TRom 3THal.

HIUT (R) : SO0 Ae foenmana
TEifed YfHeRT T, RO A& TR
faf=a e,

Trell feoiean Sehdisyd 9d qd
Teret -

Hehdieh :

(A) T (A) Sfor (R) SeR STRd

ST (R) § (A) 9 3Tgeh T
3T

(B) Tr=t (A) amfor (R) aeR 3med
TG (R) B (A) I 3T ST
RI]

(C) (A) T R 3T I (R) € TH 3T

(D) S (A) amfor (R) ® 9% 3Ted

‘form wiEs’ WeE :

(A) Fergon, foeshia, afeHed, FHdd,
EESIIEE NI

- [a (al o ¢
(B) Equm, Soie SR, S{gHer,

[a NS [a

iehdt, Al

(C) WehedOT, TMAYON, Aeaqed, THadT,
RESIECKI]

(D) Yehequl, VYN, IR, ST,

EESIIEE NI

[P.T.O.



16.

17.

Ten years after being a single child,
Neha had to share parental love
with her baby brother. This was very
She started
indulging in “baby talk” and

stressful for her.

behaving like a baby girl.
Neha’s behaviour indicates :
(A) Projection

(B) Regression

(C) Intellectualisation

(D) Denial

The student social worker placed in
an institution shared with her
supervisor that her client who was
extremely disturbed by an older boy
picked up a butcher’s knife from the
kitchen and hid it in the flush tank
of the toilet. The client planned to
kill the harasser at night. What
advise should the supervisor give to
the

(A)
(B)

student social worker ?
Keep the matter confidential

Inform the police as there is
possibility of heinous crime

(C) Meet the superintendent of the
institution along with the field
work supervisor and share the

matter with her

(D) Carry out both (B) and (C)

16.

17.
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TE AN The {o UM Sacdial arel
= YTehedl ETeieR. TEafear U
ST BAEAl ANT. &1 107 fael e/

N

FATCAT. 0T ot TR e sieie ol
Sie] ATl S0 AR HeAHRE an)
AT, for= arToaTen geidt e ol 95

(A) F&To
(B) 3Tt
(C) difgahianta

(D) TR

AT HH HA TFATHT THSIR
foeeneaiehe TR TRt Ja HifTae)
FH WM EHAIERET TR Gl ared
TS UTvar=A] 2ehid Al ST,
T Bes HLOAAT HIOHER WA ot g
Trefauarer e foER A § U

YR A TSR faesneaten <=
Tddeh HE Hodl SUR 2

(A) fedt T et

(B) TR =1 IrSvAT=H SIeRIdl ST
EISICIEIEIUIE!

(C) Toeneff snfor widers =i Sremt
e el AT A |
HTfed! e

(D) <= (B) fur (C)
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18.

19.

Which of the following is not a
technique of case work ?

(A) Observation
(B) Counselling
(C) Interviewing
(D) Lobbying

Who is the author of the book
‘Clinical Supervision’ ?

(A) Morris Cogan
(B) Mary Burns

(C) Bertha Reynold
(D) Sidney Eisenberg

18.

19.

APR-20217/1I—A
TICATCTIh! IV SR FEaRT ShraTe aof
T ?
(A) FEclh
(B) HHI<EH
(C) Hered
(D) GEhR T (@AfsE)

‘frafrea guifaga’ a1 qEawr=
TEF v ?

(A) TR\ &FH
(B) w4 o=
(C) 9t FHies

(D) Ta=a smagert

20. Assertion (A) : Catharsis results in | 20. Ta&I™ (A) : weAREA fo=m e g:f=m,
release of anxiety or tension which qToTHd o  STRIAT=aT ST Uerdlq
leads to improved functioning of the FUROT B4
client. .

. . HROT (R) : o= fammmed fom=m,
Reason. (R) :ija;harsmf consists of s ﬂj\dqvlodld']cd i e e A
e.xp1tess1on of ideas, ears.;, Past TR afeE 9 Sy
significant events and associations.
Codes : :
(A) Both (A) and (R) are true and (A) == (A) AT (R) SR & A1
(R) is the correct explanation of (R) B (A) & 3Tgch TR 3
(&) (B) T (A) amfoT (R) TR 31q
(B) Both (A) and (R) are true but T (R) T (A) o TH TR
(R) 1is not the correct et
explanation of (A) .
(C) (A) T s 38 R (R) T I T
(C) (A) is true but (R) is false .
. : (D) (A) I 318 g (R) T SR 38
(D) (A) is false but (R) is true
11 [P.T.O.



21.

22.

In which category will you place

peer support group of alcoholics ?
(A) Therapy group

(B) Self help group

(C) Support group

(D) Developmental group

While planning an outing with her
recreation group, the Student Social
Worker (SSW) suggested a visit to
the

members, after discussing several

Planetorium. The group

options, decided that they wanted to
visit the aquarium and then take a

bus ride along the sea shore.

Which of the following principles of
Group Work guided their decision

making ?

(A) Principle of guided group

interaction

(B) Principle of self-determination

©)

Principle of purposeful worker

group relationship

(D) Principle of progressive

programme experience

21.

22.
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qgdi=a] Herddl ™ 379U Eeiiel
HITA GG FHIOR HAA 2

(A) 3TER T
(B) WIHREAA T
(C) wer=Eal e

(D) faem T
TaSeRETe faeaeai sdean JaReH

TS fReEE ST a9

Haaet. A Ted el 3H®

TR IH3Tdl AT 9 T3 Al

g TRt SToar= g=s1 Seiadl. del

AN A c ~ .
Wldletbenl Tieendl=Al epocdl aTalld o=l
frofg-ufsrad Ariee Sa oM ?

o

(A) ANERFIE e STathad e

(B) @& fooiam= o
(C) BQqYUl 9HE STl WHgRESRAl
BECIEEET|

N o

(D) wa fawfag o= wEwHH

R CICEGI|

12



23.

24.

Tuckman reviewed over 50 studies
and concluded that groups go
through predictable development
stages.

Choose the correct order in which
these stages occur :

(A) Forming — Norming — Storming

— Performing - Adjourning

(B) Norming - Forming -
Performing - Storming -
Adjourning

(C) Storming - Norming -
Performing - Forming -
Adjourning

(D) Forming — Storming — Norming

— Performing — Adjourning

A student social worker was leading
a group in a community setting. The
group members wished to equip
themselves with interview skills.
Write job application, select
references and so on.

The group lasted till all of them got
jobs because :

(A) The group developed out of
common interest

(B) The members lived in the same
locality

(C) The members were of the same
age-group

(D) The members liked the group
worker

23.

24.
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qHAT I 50 U WA AT
qAfceh ShedMR o A1 TR dree
I M ¥ A HLT IS, N Faem
STEEA ST,

1 oY= AFg ®wH Eer

(A) wIffT — =fdT — weifdn —

WHERHT —  sfesiff
(B) TfHn — wiffn — werfifn —

GfT _ steiff
(C) wiffn — =ifdn — werfdn —
Gen _ stesfit

(D) ®IHT — wWiffn — =T —
Ser _ stesifit

T fagref waSwEd®Ral ¥

SR &5 Shd TeT 7o Aqe Shikd

BIAl. TeIdia SeEAAl AT YeATerd

DR, A 3T fafgr, gt fae

7o = iR, SATCHE hLva= 3o

et

T U AR Y™ i fHesud
fespa, o

(A) EM 3ERAT B HHE faenfad
SATAT

(B) €™ T o%iid e &8

(C) H<H Tk SR Bid

(D) HSHAM §HE FEkhdl TSl

13
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25.

26.

The group worker in charge of the
adolescent girls’ group in an agency
was skillful in helping the
individuals in the group to accept
each other, to mingle in the group
and to achieve the common goal of

the group.

On the basis of the above, tick the
skill possessed by the group worker :

(A) Skill in establishing purposeful
relationship

(B) Skill in participation with the
group

(C) Skill in dealing with the group
feeling

(D) Skill in analysing group
situation

‘Listening’ in community

organisation is a .........cccceuue.... .
(A) Problem solving skill

(B) Relationship skill

(C) Political skill

(D) Professional skill

25.

26.
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TR GRS UrTeTaeSiiiel Yerren Heret

U@ B R SeeHl UshHeh A

fHcTa 99 §He™ =l §HMH

3T e HLOMAT-hTH AGA oA

TR Bl

IO TR SER. el teTdeh!
HIVA DHRCH HYEHAHARS B0 2
ot

(A) =TI FAHIY TG oA
Eakre

(B) WHEEEd TEUNT SUar hieed

(C) HYETAT HEEAT Sdavdrd
HIeT

(D) Her=Al ferdt= fogedo o sivam
IR
TS HEeAW ‘THY WS

(A) gaE fearor SR

(B) HaY TEAUd hivara hivied

(C) TSHfaeh whIved

(D) AEHIE: higed




27.

A community organizer is working
with the tribal community to
establish their rights on the forest
plots they have been cultivating for
years. Her tactics in achieving this
can beet be described in the following

terms :
() Researcher

(z1) Negotiator

(Zii) Advocate

(tv) All of the above
Codes :

(A) @)

(B) (1) and (1)

(C) (@) and (iz7)

27.
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T 9™ 9oed whidhdi, STfqardl

TS TRk JETfud vae! i

FI SR, M o auigas I Hika
N h (a¥ o o

A ST wAteaiier Tfeehrr=n

THEY 2T

T T H{0ATAT AT AT g

........................ Y U g
(i) e

(ii) HEARI-Su

(iii) T

(iv) ThATHR T

Hehdleh :

A) @)

(B) (i) ST (ii1)
(C) (i) 3fur (iif)

(D) All of the above (D) FATHT T
28. Which of the following is famous for | 28. ‘T Ug"a Ufelidiehed’ & TN WeeTieht
the slogan “Personal is political” ? FYIHe UG oel ?
(A) The Black Panther Movement (A) T =fF TeR Foodes
(B) The Women’s Movement B) T
(C) The environmental Movement
(C) AR Teades
(D) The Movement for Indigenous ‘
Peoples (D) TIM ARl T
15 [P.T.O.



29.

30.

31.

Assertion (A) Revivalist
movements have gained strength in
the globalised contemporary society.

Reason (R) : Some communities are
becoming more parochial and
conservative in their outlook.

Codes :

(A) (A)is true and (R) is the correct
explanation of (A)

(A) is true but (R) is not the
correct explanation of (A)

(A) is not true and (R) is not its
explanation

(A) is not true but (R) is true

(B)

(C)

............................ is not an approach
to community organization as
discussed by Rothman ?

(A) Social Action

(B) Social empowerment
(C) Locality development
(D) Social planning

Out of 100 sample units (60 male,
40 female) a researcher selected 30
male and 20 female total 50 sample
units, what kind of sampling
methods has he adopted ?

(A)
(B)

Disproportionate sampling

Stratified proportionate
sampling method

©)

Disproportionate classified
sampling

(D)

Stratified random sampling

29.

30.

31.

APR-2021711—A

faam (A) : SMfdes THeRI THISd
qIESSiI{od Tl TATHS FBdehl

THeaTet.

®RUT (R) : R GHSEET gieehd
7 Gegpfad SN URUNe Teien 3T

‘H@?I’IEB:
(A) (A) TR 1T (R) § (A) o 3T9H
TR 3R

(B) (A) R 3T T (R) T (A) ¥ 3T

rest o M FA

(C) (A) ¥ = 38 M0 (R) & TR0
T

(D) (A) T T T TG (R) T IR 378

ToaTa ==l Shoedl T o
gfeshMT M=l FHEeT AT

(A) WS et

(B) @ISR HaHTehtol

(C) Terfer faskm

)R ICISEMERISE]

TR 100 T (60 &S & 40 Higel)
HEhTd, TRINESHM 30 & o 20 Higa,
TRU 50 THA "ew fered, Heiew™
R AT Toe Igdien aad shal

AqE ?

(A) F-YHTUEG T o

(B) & yHMUeg T fee

(C) STyHmEg afihd T fae

(D) w{id Fgfesesk A1 fae
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32.

33.

34.

A social worker wishes to undertake
an in-depth study of X’ company
CSR project’, which research design
is more appropriate ?

(A) Experimental

(B) Case-study

(C) CSR research

(D) Social work research

Example — water problem — baseline
survey — awareness about
conservation — cost-benefit of
conservation behaviour — door to
door campaign, which research
design will you suggest ?

(A) AB-single subject design
(B) A-only intervention design

(C) ABCD-multiple component

design
(D) ABDA-multiple baseline design
Assertion (A) The ‘null’

hypothesis means no relationship.

Reason (R) : There is difference
between the groups being compared.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of

(A)

Both (A) and (R) are true but
(R) 1is not the correct
explanation of (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

(C)
D)

32.

33.

34.

APR-2021711—A

TehT I HI.TH. 3TR. Fehodrd TEd
n c e N
HEIT hI0YE] HHATSIhHI A T3

31T, ShIOTT TN SRS S HIeKIh
;A ?

(A) FETCH

(B) I3

(C) H.UH.AR. HIied

(D) HHSHRE Fened

I - O YA - STMURYT HA&
~ YA SR — A TR0 THRI-dlel
forgereror - eRedt SIfyEE, a1 geRTE
ST, TR IVl YRR GIard ?

(A) 9 - Theh faug ANEE]
(B) 31 - ad sXaY IES!
(C) Aghe - fafay =& STEST

(D) 33 - fafay MR W@
faam™= (A) : ‘yE-TEAE T WU
Y THOI.

ST (R) : T HL0AT AU TR~
Te fy=ar o1

Hehdich :

(A) (A) 3for (R) T8I S TR

T (R) § (A) < 3T TR0
e

(B) (A) =7ft1 (R) S8t aleR 3TTed W,
(R) ¥ (A) 9 3T SIS0 AT

(C) (A) T =R 38 W (R) T I 3T
(D) ﬁé%iasw%qi@(m%aﬁm
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35.

36.

37.

38.

‘Most people agree that globalization
is important step. Do you agree ?

IS tvererereennrennenne type of question,
in research misleading.

(A) Question

(B) Progressive question
(C) Mismatch question
(D) Leading question

Which of the following organizations
looks after the credit needs of
agriculture and rural development
in India ?

(A) NABARD
(B) FCI

(C) IDBI

(D) ICAR

Which of the following is not a
feature of good governance ?

(A) Transparency
(B) Red tapism
(C) Accountability
(D) Rule of law

A budget is essentially a statement
of :

(A) Identification of targets to be
achieved

(B) Surplus or deficit of the previous
budget

(C) Estimated revenue and
expenditure over a period of
time

(D) Allocation of funds in various
heads of expenditure

35.

36.

37.

38.

APR-20217/TI—A
‘Sgdeh RIS T SINTfAehIshoT &
Tl U STy’ ST HeHA 3Tew
FE?
(A) feenye g
(B) GRTHT T
(C) -SRI ¥
(D) g% WA

TRATHEY WeiTeTdeh! shIoTdl TET Bt Sl
q UTHETOT faenTarETSt Ao 31ef Trera

qEUIT hTH HId 7

(A) e

(B) T®H. G374

(C) 4. S1..3T4.

(D) STI.9.T.3R.

@TTFﬁ?F{ﬁEIﬁ FHITd [IMHATS A0

(A) IR

(B) el YR

(C) SeTeIeRY

(D) I T
SHELECIRC I ICDIEIEC il )
yere faum 89 ?

(A) e HyeaE] 3fesed 3

(B) Q=1 STRSIsehTdiel foTecteh fehan
<

(C) faftte Fwemadmea s weya
anfor =

(D) fafga == sfistawiada A=
1Y
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39.

40.

41.

42.

Social Insurance does not include :
(A) Unemployment benefits

(B) Pensions

(C) Disability allowances

(D) Ex-gratia payment

When existing programmes, policies
and expenditures are considered as
a base for the new policy to be
formulated, it points towards ?

(A) Incremental model
(B) Elite model

(C) Rational model
(D) Process model

Social justice is the balance
between :

(A) Individual rights and family

(B) Fundamental and

judicial system

rights

(C) Individual rights and society

(D) Individual rights and social
control

Under the Companies Act, section
135 is related to :

(A) Corporate charity

(B) Corporate social responsibility
(C) Company responsibility

(D) Corporate citizenship

39.

40.

41.

42.

APR-20217/11—A
HrIfees YRAHS Telld A Aadd
& ?
(A) SUSATR o=
(B) fa=it o=
(C) AIFTE o
(D) HIIE S
Segl A RO SArEa e

ATATHT HIAHHIAT ENTOAT 3o
TEE YR AW A4 d9gl d w1
TIEad ?

(A) FEA TR Y&
(B) 3=UY U&Y

(C) arqd 9rey
(D) 9fhan &9

gTHaTSIh

TITATA 10T
HTHMAS FI T ?
(A) Safaes gFh omfor sed

=19,

(B) HAYd BoFh STV =TT SHaeel
(C) dafodesh s oMfoT oSt
(D) Sferaer gk TT0T HrATTSTeh f=ron

U I ST, AR 135 JEaTdeh]
FHIMH FEfd e ?

(A) SENTHEERST BN <HYH

(B) SEWEETE | gifac

(C) HUA SRR

(D) SEWEETE AT
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43. Assertion (A) : The records of

44.

conviction of the juvenile are
removed after the expiry of the
period of appeal or after a reasonable
period as prescribed under the rules.

Reason (R) : Juvenile who has
committed an offence and has been
dealt with under the provisions of
this Act shall not suffer any
disqualification attached to the
conviction.

Codes :
(A)
(B)

(A) is true but (R) is not correct

(A) is true and (R) is correct
explanation of (A)

(C)
D)

(A) is not true, but (R) is correct

(A) is not true and (R) is
correct

Information Technology Act, 2000
also deals with .......cccceeeeennee. crimes.

(@) Cyber terrorism
(b) Cyber security
(¢) Cyber frauds
(d) Hacking

Codes

A) (a)

(B) ()

©) (), (), (o), (@)
D) ()

43.

44.

APR-2021711—A

faema (A) : TS SwdAedr o
TRIRIEE A Hial &I q/] HETogr=
FHIAEH HIAHQ fhar Hafed e
ST A STE1 ST FIAHMR higT
Zleh T SIdTd.

SHRUT (R) : 1 AR TEIRT 2]
Hoell 3T ST et AR a1
ST AT HIECTE] HIOAT STeAe
FHA Y 3! SUATH FHR STl

NIEEEE
Hehdih :
(A) (A) TR R g (R) ¥ I% 3T

(B) (A) s 3 (R) T (A) = TH
TR B

(C) (A) & I 38 W (R) T IR
3T

(D) (A) § R AN 997 (R) § IR
Y

grfedt 939 Afafaa9 2000, zaX
I add WITATA Hedl AT

Tafa TR ?

(@) TER AR
(b) IS T

(c) I HHIh
(d) et

Hehdieh :

A) (a)

(B) (b)

C) (a), (b), (c), (d)
D) ()
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45.

46.

47.

Under which of the following Acts
NGOs are not registered ?

(A) Public Trust Act, 1950

(B) Societies Registration Act, 1860
(C) Indian Companies Act, 1956
(D) CSR Act, 2015

The Lokpal and Lokayuktas Act was

passed in the year :
(A) 2011
(B) 2012
(C) 2013
(D) 2015

The Right to Fair Compensation
Land
Acquisition, Rehabilitation and
Resettlement Act 2013 (Amended)
deals with :

and Transparency in

(@) Compensation

(b) Acquisition

(¢c) Rehabilitation

(d) Re-development
Choose the correct option :
(A) (a) and (b)

(B) (@), (b) and (c)

(C) (@) and (d)

D) (a)

45.

46.

47.

APR-2021711—A

AT ShIUTeT 1IN STaid fomR TR
T ACO B e 2

(A) eI favasd e, 1950

(B) T Higul wEEl, 1860
(C) Y™ ot Afaf=m, 1956
(D) H.UH.3R. A=, 2015

TR aTel ST GG ShIFG ohivTcal oSt
qid sl ?

(A) 2011
(B) 2012
(C) 2013
(D) 2015
g AHRIEYOREr Afuer erfu

SHHETHIRVITCT M9, ‘&Ull‘(‘qﬂl Al
qIae hraal 2013 (TEKi1) HIMM
e e ?

(@) THEH RUE
(b) ferrgmm

(c) TeE

(d) YAfehE

3reeh T e
(A) (a) {07 ()
B) (a), (b) U (c)

(C) (a) 30 (d)

(D) (a) ®d
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48.

49.

What is “green revolution” ?
(A) A movement to save trees

(B) A movement to increase food

production, specially in
developing countries
(C) A movement to reduce

carbon footprint

(D) A movement to save the

environment

The following are the indicators of
quality of life :

(@) Health care

(b) Cost of living

(c) Oil prices
(d) Crime rate

Choose the correct option :
(A) (a) and (d)

(B) (a), (b) and (d)

(C) (a) and (c)

D) ()

48.

APR-2021711—A

‘gfd il BUS w2

(A) I IrEfIuarE] Fedcs

(B) fomrem: fomaeia Tsme o/ =-

Y= IAEA 918 HI Tddos

(C) B oA SHATARST FHIOT HHI

HLOITHSE Tedad

(D) THTeR0 IMEEUR] Hesaos

49. TorEETgEl Sfeer fdve ® omed

(c) o= fehwdr
(d) T HHI
e A e
(A) (@) iU (d)

B) (a), (b) A (d)
(C) (@) M (c)

(D) (e)
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50. Assertion (A) : Globalization has

drastically enhanced the access to
knowledge and services, and further

accelerated social development.

Reason (R) : Barriers in technology

transformation have been

liberalized.

Choose the correct option :

(A) Both (A) and (R) are true and
(R) is the correct explanation of

(A)

(B) Both (A) and (R) are true but

(R) 1is not the correct

explanation of (A)

(C) (R) is true but (A) is not true

(D) (A) is true but (R) is not true

APR-2021711—A

50. Taegm (A) : SFfdehieRTomges 19 3Tfor

[T ATRTATT G Yo YA TSI
Al 3, qUE WIS faeRTEr
gfskan sifeer Tfasiial Simeiell 31”

HEUT (R) : dIMAA Oad=9d

Aefashdaeial Tedes T .

3reer T e

(A) (A) 30T (R) Tl & sIeR 3Tea

3T (R) § (A) o 3Tk T
3T

a N

(B) (A) =0T (R) <Igrel

I 3R

TG (R) ¥ (A) T 3T TIRIHI
Bl

(C) (R) & SRR M€ 991 (A) & Ih
Sl

(D) (A) § SR R 997 (R) & I
3
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ROUGH WORK
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